e

uropa

components

Technical Data: MCCB125-160 (S160-SCJ)

IP4X Enclosed MCCBs

-
A Important Safety Notice

It is the responsibility of the person installing the electrical equipment to ensure that the installation meets the
requirements of the IET wiring regulations and is therefore ‘it for purpose’. Factors such as correct selection
of components, cable sizing, protective devices and Earth bonding are all critical and should be checked prior to
full testing and power-up. Any other regulations applicable to the equipment being installed such as the
Machinery Directive and current health and safety legislation must also be adhered to.
All connections (including factory made) must be checked for the correct tightness prior to commissioning of
the electrical installation.
All connections should be checked periodically to ensure correct tightness.
\_ DO NOT USE POWER TOOLS ON THESE PRODUCTS

.
F?I
[+
C€)

H

MCCB125-160-3PNL-MC

=

130
155

225 FIXING CENTRES

WARNING: All connections

(including factory made) must be
checked for the correct tightness
prior to the commissioning of the

electrical installation

TOP AND BOTTOM
GLAND PLATES

/4 x HOLES 8.5 DIA

2mm THICK

v

I
@ ——T/— E
——>
——/——> M8 BOLT
NOTE: TERMINAL 8- 12Nm
SHROUDS NOT
SHOWN FOR CLARITY |_—M8 SCREW
70 5-7Nm
35 | 35
_4{[‘1 C ) M6 SCREW
e} le) 6Nm Max.
» ol & ® v CHH 1
L /
g 1
z il ]
o =
o -
3 o . - . - M8 BOLT - - 4
v g L] g | 8- 12nm F
T
. @ erE] (® r
O] (o g o
- 20
MAXIMUM CABLE 87
SIZE2x95mmsq. «
3 ' S
A N e m—
———
——
© . © f
€Y
300 ’ I.‘.-_umplinnrl
\_
| Pagetof2 | L EDS1205-001

J




UUFO P& | echnical Data: MCCB125-160 (S160-SCJ)
components IP4X Enclosed MCCBs

MCCB125-160-4P-MC

H

WARNING: All connections
o=l =) o (including factory made) must be
o © checked for the correct tightness
< prior to the commissioning of the
electrical installation
Ei 1%
TOP AND BOTTOM
GLAND PLATES
225 FIXING CENTRES 2mm THICK
/4 x HOLES 8.5 DIA
@ —C— —> E
—— T/
——— T/
NOTE: TERMINAL
SHROUDS NOT I | —M8 BOLT
SHOWN FOR CLARITY 8-12Nm
105
35 1135 .35 | _—M8 SCREW o
5-7Nm
(@) (@) H
2 elolt] &l i L
= ()
Z
Ll ]
o (&) []
g L]
[T
= ®
< ENCRENE I
O = {
17 o
87
MAXIMUM CABLE
SIZE 2 x 95mm sq.
N
[<e) |
——T—
p——
o | =———™ © i
|
300
N\ _/

Page 1 of 2 J Europa House, Airport Way, Luton, Beds, LU2 9NH Tel: 01582 692 440 / Fax: 01582 692 450

\ e-mail: sales@europacomponents.com / website: http://www.europacomponents.com L EDS1205-001

J




@ Innovators in Protection Technology

DATA SHEET: TEMBREAK 2 $160-SCJ MCCB

MCCB Electrical Characteristics to IEC 60947-2, EN 60947-2, JIS C 8201-2-1 ANN.1, NEMA AB-1

Frame Reference Quantity Unit Condition _
Max in ( A) of Frame 160
Model S160
Number of Poles 3,4
Type SCJ
In (A) 50°C 25,40,63,80
100,125,160
Electrical characteristics
Rated operational voltage Ue V) AC 50/60 Hz 525
DC 250
Rated insulation voltage Ui V) 690
Rated impulse withstand voltage Uimp (kV) 8
Ultimate breaking capacity lcu (kA) 690V AC -
(IEC, JIS, AS/NZS) 525V AC 7.5
440V AC 15
400/415V AC 25
220/240V AC 35
250V DC 20
Service breaking capacity les (kA) 690V AC -
(IEC, JIS, AS/NZS) 525V AC 4
440V AC 7.5
400/415V AC 13
220/240V AC 18
250V DC 10
Rated breaking capacity (NEMA) (kA) 480V AC 7.5
240VAC 35
Fixed thermal, fixed magnetic -
Adjustable thermal, fixed magnetic [ |
Utilisation category A
Front connection (FC) |
Extension bar (FB) °
Cable clamp (FW) LNO)
Rear connection (RC) ®
Plug-in (PM) -
DIN rail mounting (DA) °
Dimensions height (mm) 130
width (mm) 3 pole, (1 pole) 75
4 pole 100
depth (mm) 68
Weight weight (kg) 3 pole, (1 pole) 0.8
4 pole 1.0
Direct Opening Action [}
Toggle operation [
Door mounted (HS) / Breaker mounted handle (HB) °
Motor operation -
Endurance Electrical cycles 415V AC 10,000@
cycles 20,000
B Standard e Optional - Not Available

® Factory-fit at time of order
@ 14,000 <125A

K

Page 1 of 3



@ TERASAKI

in Protection Tech y

DATA SHEET: TEMBREAK 2 $160-SCJ MCCB
Outline Dimensions $S160-SCJ

ASL: Arrangement Standard Line H: Handle Frame Centre Line @: Handle Centre Line

Front connected S8, 25
e%?sg\’% 99(6‘{2’?"04)
. 0, 0,
Preparation of < ]
conductor K. IS} With extension bars Drilling plan
16.5(max.) — 14(max.) hd (O tional) .
Interpole barrier max.5 2| maxts 3 P (front view)
(removable) M5X0.8 screw (25-40A) £ 3P E 4P
4P M8 screw (63-160A) ©
28
4
Mounting hol
22 lounting hole 3 o4 3;’ 4;’
% M [[EEOm i}
Y ® FH
o o -
e+ e 128 el R il H 9 ¢ ¢ 7
M4X0.7
SEeuel T Rl Mounting screw s 5
‘ 50 ‘ 75 7.7 H _2_5_J _2_5_J M4X0.7
75 100 Tapped hole
Note: For the extension bars: Straight bars or
8.3 spread bars can be supplied depending on
current rating. Refer to order codes for details.
Rear connected
Detail of o A i A 4P Drilling plan (front view) Panel cutout (front view)
connecting part [JEEEEB) of —
T T
3p 4P
CllIbcll b " . ] 3p 4P
Mounting plate 37.5 i 375 "
¢ (max. 13.2), . . . S
d__l uJ I\\IJ\I\\ I\\IJ\I\\I\
g9 & S L ¢ = € ?
Maxo7 R & o
. Mounting screw, @ B o AN AN A A
E > — S (LN vi NI\ JAN
) ) 020 38.5 38.5
o 5 Studs are horizontal 125 125 MAX0.7 77 102
direction only 50 25]25]| 25\ Tapped hole
95 102
Rated current (A) A B [9] D E F
16-50 105 6.5 4 13 16 4
63-160 125 85 4 13 16 5 Panel cutout dimensions shown give an allowance
of 1.0mm or more around the handle escutcheon.

Page 2 of 3



@ TERASAKI

Innovators in Protection Technology

DATA SHEET: TEMBREAK 2 $160-SCJ MCCB

Time/Current Characteristic Curves

S160-SCJ
3
2 Rated Magnetic trip
Current (A) | current AC (A)
1 25 600+120
38 40 600+120
2 63 1000200
\ \ 80 1000+200
10 100 1500+300
sLLL 1\ 125 | 15004300
\ 160 1600+300
4 \
NI
RIIEAT AN
40 \
10 30 Max.
£ 20 \
= \
£ N N
o 6 \
a 4 \\\ \‘\
= ) NG \\
. NN
’ Min. \\ o5
08 160A 7
04
b\ I
0.2
0.1
0.06
0.04
0.02
0.01
O A o o O O o o o O o O O o
== 8 B¥8 RS BF EG8 B8

Percent Rated Current

Page 3 of 3



TemBreak @ TERASAKI

Innovators in Protection Technology

/—ba—XTlL—4%h
EiREtEAE
Instruction Manual for
Moulded Case Circuit
Breakers

230 (Types)

* BIEF (Fix Types)
S50-SF  $125-SF
E160-SF $160-SCF
S$160-SF

- BISREERY
(Adjustable Thermal Magnetic Types)
E160-SJ $160-SCJ
$160-SJ

RERAEIL ERICBRZHDHEFTLTAYNICREL T TEW o ABITRANTUVVRVERL,
RO BURWNC R > TEUDIBEICEL T, ttid— I Bz aWEE A,

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

HFINESERHR\TS R
T547-0002 ABRHFEHRMER 7-2-10
EEE 06(6791)9320

TPYIR: 06(6791)9274
R—LNR— www.terasaki.co.jp

TERASAKI ELECTRIC CO,, LTD.

7-2-10 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL: 81-6-6791-9323/ FAX: 81-6-6791-9274
URL: www.terasaki.co.jp

E-mail : kiki-info@terasaki.co.jp E-mail: int-sales@terasaki.co.jp

2G0944SAA(KRB-0602)

] #eto IFE
WL (R RS - MR DRI, BT ABEZDOMD B BEEHFHES, MBOMH, 20
B ECIEEEOSTCERL TSEIURL TSV, CORUERGBAETE T2 TEEED
SV TR, BER L TR AL THDES,
HURVE RS IS A, RRARRA DA T RIS EEGE DT B AN
BESNZHE.
BIRVE RS BRI, BRERRABOAT FEEQEECREEZTD
TR EEESNDIEE,
ICEHULEETS RRICE > TREARBRICHU DUBANBDET,
WThEEBERAATT D THT Fo>T T,
WETEDEE BLICLELARBOHATEIENSIOS/EBBLTTE.)
MNEE
OESTHI HEEE (BEIEL) MMToTTE,
OS5 R 2B BENER BAKAR RE FEALEEEHICKBLEVTTEN,
KK DREEE 1D, EBICEELANGZNDBOET ,
@IS, IV /U8, HHBEDRY RO ABRENTL—HABICASENESI
BEIUT TSN AKDEREA 1D, REHEDR TN BDOET
@fETEEIE, T —hiE%O (OFF) IcL, TBL TOAW T EERERL TF > T T,
BBORZNIBOET,
Q4BHTL—HDIBE HAR RO R EFEDTNBICEHLT TN, BERT
BFE T Ic NS DRRERDET,
@ FRUIMEE R LY THREICH I T TN AKDRREBDET,
O FRUOBNITRRUEGRE B FBICEBEND oy
OSENESIELTTEV B FBADBABIGAE,  for
KEDBZNDBOET
OEENTL—HERBOBEKREIE TL—HIKE
FCRTERLTTAV, BT/ WP RS WSS ARATERL EgF— 75T
TP EERZETIRBL T TN AR ERERT 26 ZNHBET,
@ 7 — U HABEH QUEZISAIRNTT —0 ANR—2R (MK EERE) %+ D HRL TTEW, IEHT T
ERNEADBOET,

!

on

ISl

BERALDEE
A BBk

@it FEICHNIZNT TN, REOEENIHDET
A GEE

@B EBWIChYy T GBI LiciE&aid, REZEODBRWTAS/\VRILZ | (ON)ICLT
TaW, XKER EBREMR) ZBEMLLIBEIE TL—HERRLT TSIV, KKD
BENDBOET,

BRT - SR EDER

AFE

QRS- ARIE, EPIMBEETDIANTOTTE,

@RS BRI _EIT7L—h%E%0 (OFF) ICU, BBL TWWRW I EERESEL TIT> T T,
REBORENHIBDET,

@i FHlld, EHRIICIZEER (LY THEURIHL T TSV, K KDREERDET,

BZDHDEE

 (TEEED)—RFE R > THEEVLBVWT TSV, HEDREEZDEY

+ TL—HDEEDAN—FRFBENTTEN, MR MEEZRIECEE B Ao

CTL—NICERYT 2BHRCEAEIERBRICELCMEEOD DZERLTTIW,
MTEEN NS W& FEEERBHADBETNAHDET .

[1] Safety Notices

Be sure to read these Instructions and other associated documents accompanying the
product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

EMounting Precautions
(For detailed mounting dimensions, refer to the TemBreak2 catalogue.)

A\ Caution

@ Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@ Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and
after conductor connection, do not apply excessive  frero®
force to the terminals. Otherwise, a fire may result.

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-
circuit.

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

EHandling Precautions

/A\Warning

@Never touch terminals. Otherwise, electric shock may result.

A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the | (ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

EMaintenance Precautions

A\ Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

HOther Precautions

« Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

« When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

/WELIZHIE Packaged ltems / Assembly Tools

Bk E
N =
S L— k®) _
Breaker: 1 Instruction Manual: 1
(This document)
i F /T (FCDH)
. Interpole Barrier
' . (Only FC)
2P: 1
3P: 2
4P: 3
R T3 Type
15,/ 13
gj:é&ﬁs/ S50-SF, S125-SF, E160-SF, S160-SCF, $160-SF, E160-SJ, S160-SCJ, $160-SJ
Poles 4 Bl # Bl
Qty Mounting screw Qty Connecting screw
2P 2 2P 4 15~50A
smv [P 2| Maxet g [ o |EER |msx (@)
Front 7 4P 2 4P| 8 |Fix Types
Connection | 2P| 2 2P| 4 |60~160A -
®| 2 | Maxet g [®[ 6 |EEE |Mex1t QP
4P| 2 4P| 8 |Fix Types
®AEfRC) [ 2P| 2 2P| 4 [S50-SF [M6x22
Rear 3P| 2 | M4x61 M 3P| 6 | zofn M8x23 W
Connection [ 4P| 2 4P| 8 |Others
EAFPM) 2P 2 2P 4 :
Plug-in 3P| 2 | M4x75 M 3P| 6 M6 Q)‘;‘.)")
Connection | 4P 2 4P 8 ]
BAFR) [ 2P 4 2P| 4 |S50-SF [M6x22
Fusipe (3P| 4 | M5x15 (PP [P 6 [0k | ygy0s
Where Applicable| 4P | 4 4P| 8 |Others

e o OB 00

12ELBE  Operating Instructions

J\URIL
Handle \
(ON)
y : NUwTREY
O Ll —=<"" Trip Button
(OFF)
RESET
BE I\ RIVIBMED
Operation Operation effort
O(OFF)=| (ON) 441N
| (ON)= O (OFF) 372N
TRIP= O (OFF) 784N

[4] RERfHEMRDAER  Fitting Internal Accessories | 2 Pole

HHRAYF  Auxiliary Switch
*
T2AX00L I

EHAF
¥
T2ALOOL [

Alarm Switch

BESISL TRBESISL
Shunt Trip Undervoltage Trip

TZSHOOED T2UVO0ITD

*TBmORES
*k Symbols of Accessories

HHEE  Combination

2 pole
1(ON)
i
[TT] LY
N O(OFF)

or

=

o
juf
fuj

s}
U

|(ON)
Ty
n

O(OFF)
1M

BT 1 D(FRIch32 D)%
5A, ERADSIEFICEMFTTEL,
In case of fiting one (or two) auxiliary
switch, fit in an order from a left sideslot.

- BRI T ERICEFT I B THS, S ERA TSV,
- After fitting, verify the function of the Accessory.

i

ERREIEH UERDAIE  Pull Out Leads on Load Side

Y'Y —7 Ring Mark
A YT BHEAAVT
Auxiliary Switch Alarm Switch
afEs bl affm | bR
a contact b contact | a contact | b contact
TUAXCAYAXa | TUAKGAZAXD | gy/aic | ayaLe
21/AXc24/AXa | 21/AXc-22/AXb

3TAXC-34AXa | 3UAXC-32AYD | S4ALa | 92ALD

BESILER TEEESSUER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2

4L Removal




(5] MERTEMDER Fitting Internal Accessories |3-4 Pole

Mt
M type

BBIRYF  Auxiliary Switch
*
T2AX00M I

EHRAF
*
T2ALOOM [

Alarm Switch

BESISL TRBESISL
Shunt Trip Undervoltage Trip

T2SHO0 *D T2UV00 *D

* N BRORES
*k Symbols of Accessories

fHHEE  Combination

L]
1(ON)
n [
i JO
® =l
O(OFF)
[1[1
OO Y
| (ON)
° 'n [ g’y
<]
al
¢ uLam
O(OFF)
11
FEIRA YT D(Fcld2 D) IS5
Za, AALSIEFICEMI TSN,
In case of fiting one (or two) auxiliary
switch, fit in an order from a left sideslot.

TR & LEBDAIE  Pull Out Leads on Load Side

Y>'<Y—% Ring Mark
BENZAYT BE2(VT
Auxiliary Switch Alarm Switch

afEm b= affm | bR
a contact b contact | acontact| b contact

TIAC-14AYa | TIACTZAY | gya o | 91/aLc
2UAXG24AYa | 2UAKG22AD | - -
3TAXC-34AXa | 3UAX-32AYD | S4ALa | 92ALD

BESIHLER TREEHUER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2

ZIDINL—ILTFTHE T4
CwrEP)

(6] AGEIER REF

Brea(k:er Mounting Procedure
F

for DIN Rail Adaptor (Optional)
~ 3-4 Pole

FERAER EAR

Breaker Mounting Procedure for FP

9] AFRIITEE ZiAR

Breaker Mounting Procedure for PM

EARGE
Plug-in Base

T2PM12LE %
*:20r 3 (154 Poles)

M4x75

®

- (T BREUST & BT ERICENFS 2R L THS, AT, 3 H

- After fitting, verify the function of the Accessory. 2G0944SAA(KRB-0602)
BAERER ZEW - HiAl kS A0k EHFNY T IS ERE WHFHAN—EERE B8Ny RIS /Oy & BITESR

Terminal Cover
Mounting Procedure

Conductor Connection Procedure for RC/F.P (Where Applicable)

Arrangement Set
(0°, 45°, 90°, 135°)

REAZ YK
Flat bar stud
S50-SF T2RPO5L %S @
E125-SF —F
S125-SCF| T2RP12L %S
9

$125-SF _
*:30r4 (% Poles) @
-
5=

15-50A | @ M5x14 I M6x22
E 23~28Nm . 27~45Nm
G0-125n | @ M6x18_| MBx23
7.8~11.8Nm b 11.8~18.6Nm

Adjustment procedure for adjustable Thermal Magnetic Types

28akEGERE XREL
Conductor Connection Procedure for FC m

$ )
i PE:

= G

G 16,5 mm
H 9mm
J 16,5 mm
K 9mm
L
M

5mm
9 mm max

-BRAOREGFERIL, T —HREE TR TRGL T TS

-Insulate all bare conductors of the line side until the breaker end.

(E160-SJ, $160-SJ, $160-SCJ D5 AE)
(for E160-SJ, $160-SJ, $160-SCJ )

) \—
Flat Bar

T2FB12L*B
P *: 3 or 4 (fB# Poles)

M5x12

2.3~3.4Nm

M8x14

4.9 ~6.9Nm
M8 x30

11.8 ~18.6 Nm

15~50A

60~ 125A

Interpole Barrier
Mounting Procedure

w77
" R Interpole Barrier
d T2BA16L>%SH
*:2,3 0r 4 (i Poles)

- BAUIEES O EFIETTWES
+ When removing, remove the items in
reverse order of mounting.

A=
Terminal Cover
i NN~
T2CR16L* SG Connection Terminal Cover

E@E RD)
76 (Long Tymo ) | TROF16L3KSLNG

RER (NE)
2C | Gror Ty | TROF1BLKSSNG

*:2, 3 or 4 (5% Poles)

- AU HF DB FIETITVES .
+ When removing, remove the items in
reverse order of mounting.

Handle Holder / Lock Mounting Procedure

J\UNIL
Handle

JUNUNLE /07
Handle Holder/Lock

T2HH25L

- J\URIL RILE/ v, | (ON), O (OFF) RIBEDWI I Th BN c&EE T,

- Handle holder/ lock can be fitted in any position of (ON) and O(OFF).

< JUNL Oy UUERS 25613 00 FIE TR IFEI I T TSV,

+ When you use this item as the handle lock, please fit padlocks in the procedure of @
- RRAUIRESIT O FIBTITVET .

+ When removing, remove the items in reverse order of mounting.






